
 

 i x

 a i x

 x

 x

 x n k

  yi = xi-k  für i>k 

  yi = xn-k+i   für i≤k 

 

 x

 yi = xi+1 - xi 

 

 

 

 

 

function a = f1(x,y,b) 

if x + y < b 

   a = floor(x); 

elseif y + b > x 

   a = ceil (y); 

else 

   a = fix(b^12); 

end 

f1(1.75,1.05,0.5) = 

 

 

 

 

f1(1.5,2.05,0.57) =  



function v = f2(x,n) 

v = zeros(n,1); 

for i = 1:round(n/2)+x 

   v(i) = n * x; 

end 

f2(2,-1)= 

 

 

f2(1,4) =  

function x = f3(m) 

while m > 0 

   m = round(m/3) – 2; 

end 

x=m; 

f3(36) =  

 

 

f3(-26.75) = 

function x = f4(v) 

x = 1; 

for i = length(v):-1:2 

   x = x + v(i) - v(i+1); 

end 

 

f4([1,2,3,4])= 

 

 

f4([1])= 

 

function x = f5(M) 

i = M(1,1); 

j = M(1,2); 

if i>size(M,1) | j>size(M,2) 

   x = 0; 

else 

   x = M(i,j); 

end 

 

f5([-1 47 11;0 8 15])= 

 

 

 

f5([-10 1;42 69])= 

 

 

 

transp

for

 
1 function A = transp(A) 

2 

3 % Vertauschungen in A (zu programmieren): 

4 for ... 

5  for ... 

6   ... 

7  end; 

8 end; 

 

A' 

 



 

Lösung: 
function v=Zufallszahlen(y_min,y_max,n) 
v=zeros(1,n); 

  
for i=1:n 
    v(i)=round(rand*(y_max-y_min)+y_min); 
end 
v; 

  
end 

 

 
function y= Bubblesortzufall(y_min,y_max,n) 

  
x=Zufallszahlen(y_min,y_max,n); 

  
p=length(x); 

  
for i=p:-1:1 
    getauscht=0; 

     
   for j=2:i 

        
       if x(j-1) > x(j) 
           temp=x(j); 
           x(j)=x(j-1); 
           x(j-1)=temp; 
           getauscht=1; 
       end 
   end 
   if getauscht ==0 
       break; 
   end 
end 
x 
end 

  



b.  

function x=Insertionsortzufall(y_min,y_max,n) 

  
x=Zufallszahlen(y_min,y_max,n); 

  
p=length(x); 

  
 for i= 2:p 
    temp=x(i); 
     j=i; 
     while (j>1)& (x(j-1)>temp) 
        x(j)=x(j-1); 
        j=j-1; 
     end 
     x(j)=temp; 
 end 
 x; 
end 

 
function x=Selectionsortzufall(y_min,y_max,n) 

  
x=Zufallszahlen(y_min,y_max,n); 

  
p=length(x); 
 for i=1:p-1 
     min_i=i; 

      
     for j= i+1:n 
         if x(j)<x(min_i) 
             min_i=j; 
         end 
     end 
     temp=x(i); 
     x(i)=x(min_i); 
     x(min_i)=temp; 
 end 
 x 
end 


